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BAT . WRIN-FAT—A2  FEBIEY)  #E:Hx125%125%6.5%9, F : H*x300%150%6.5%9
EEX Y
BERS Ls (M) 2.73 3.64 455 5.46 6.37 7.28
HsH/120) & (cm) _
H:2.30 |7K¥EF PH (KN). [t] | 18.24 [1.86)] 17.85 [1.82)] 17.55 [1.79) ]| 17.16 [1.75) [ 16.87 [1.72) | 16.48 [1.68]
Hs:2.15 | ¥ SR o (KN/M), [a] | 668 [3.41)] 490 [250) | 3.86 [1.97)] 3.14 [1.60) | 2.65 [1.35] | 2.26 [1.15]
S :(1.92)[#EE ARKN),  [V] (m¥) | 14.32 [0.91)] 10.59 [0.68) | 8.34 [0.53) | 6.77 [043) | 5.69 [0.36)] | 490 [0.31]
H:2.50 |7KFEF PH (KN), [t] | 1525 [1.56)] 15.00 [1.53) ] 14.71 [1.50) | 14.42 [1.47) [ 14.17 [1.45) ] 13.93 [1.42]
Hs:2.35 |FEeasfE® o (KN/M), [a] | 559 [2.85) | 412 [2.10) | 323 [1.65) | 2.64 [1.35)] 222 [1.13]] 1.91 [0.98])
S :(2.08)[#EE HRKN),  [V] (m®) | 13.10 [0.84) | 9.71 [0.62) | 7.55 [0.48]) | 6.18 [0.39] | 5.18 [0.33] | 451 [0.29])
H:2.70 |7KFEF PH (KN). [t] |12.99 [1.33]] 1280 [1.31]] 1255 [1.28) | 12.37 [1.26] [ 12.16 [1.24) | 11.96 [1.22]
Hs:2.55 | ¥ SfER o (KN/M), [a] | 476 [2.43) ] 352 [1.79) | 2.76 [1.41)] 2.26 [1.15) | 1.91 [0.97) ] 1.64 [0.84])
S :(2.25)|HHEARKN),  [V]) (m®) [ 12.11 [0.77)] 899 [057) | 7.06 [045) | 579 [0.37) | 490 [031]) | 422 [0.27]
H:2.90 |JK¥FEF PH (KN), [t] |11.23 [1.15)] 11.03 [1.13)] 10.89 [1.11)] 10.69 [1.09) | 10.54 [1.08) ] 10.37 [1.06]
Hs:2.75 | ErgsEtEER o (KN/M), [ )| 411 [2.10)] 3.03 [1.55) ] 2.39 [1.22) | 1.96 [1.00] | 1.65 [0.84]) | 1.42 [0.73]
S (24| 4EMIEA HRKN),  [V] (m®) | 11.33 [0.72]] 8.37 [053) | 657 [042) | 539 [0.34] [ 453 [0.29] | 3.91 [0.25]
H:3.10 |7KFEH PH (KN), [t) 9.74 [0.99] ] 961 [098) ] 946 [0.97)] 932 [0.95]) [ 9.19 [0.94]) | 9.02 [0.92]
Hs:2.95 | E¥aaSfE#R o (KN/M), [a] | 357 [1.82)] 2.64 [1.35)] 2.08 [1.06) | 1.71 [0.87) | 1.44 [0.74) ]| 1.24 [0.63])
8 :(2.58)|4EMNEH AARKN),  [V] (m®) | 1052 [0.67)] 7.75 [049) | 6.15 [0.39] | 500 [0.32) [ 430 [0.28] | 3.63 [0.23])
H:3.30 |7KFEF PH (KN). [t] | 856 [0.87)] 845 [0.86)] 8.34 [0.85)| 8.22 [0.84) | 8.11 [0.83) | 7.97 [0.81]
Hs:3.15 | ¥ SR o (KN/M), [a] ] 314 [1.60) ]| 232 [1.18) | 1.88 [0.93) ]| 1.51 [0.77) | 1.27 [0.65) | 1.10 [0.56]
S :(2.75)|4EMEA ARKN),  [V] (m®) | 9.84 [063) ]| 7.27 [046) | 579 [037) | 470 [0.30] [ 401 [0.26] | 3.45 [0.22]
H:3.50 |7KFEF PH (KN), [t] | 758 [0.77)] 750 [0.77) ]| 740 [0.76) | 7.31 [0.75) | 7.21 [0.74) | 7.11 [0.73]
Hs:3.35 |ErgshafEsR o (KN/M), [a) | 2.77 [1.41)] 2.06 [1.05) | 1.63 [0.83) | 1.34 [0.68] | 1.13 [0.58] | 0.98 [0.50]
S 1 (29|AEMIEAARKN), [V] (m® | 9.32 [060] ]| 6.92 [044]) | 543 [0.35) | 448 [0.29] [ 3.75 [0.24] | 3.31 [0.21]
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